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L) Quick:
Solve the linear equation system. Use the Gaussian Elimination algorithm. e
—4r1 +  8x9 + —923 + —6xy = -—28
4r1 + —14r9 + 1923 + 4dxy = 66
24x1 +  6xo + —3lzs + O50xy = -—164
8r1 + 269 + —32x3 + 20x4y = -—-220
—4x1 +  8xo + —923 + —6x4 = -—28 )
4r1 + —14x20 4+ 1923 + 4dxy = 66 ) |+ (1)
24r1 +  6x9 + —3lzg + 50z4y = -—164 )
8r1 + 262 + —32x3 + 20xy = -—220 )
—4r1 + 8r9 + —Y9r3 + —6x4 = —28
—6x9 + 1023 + —214 = 38
24dx1 + 6x2 + —3lxs + 5H0xy = -—164 | +6x (1)
8r1 4+ 20x2 + —32x3 + 20x4 = —220
—4r1 + 8r9 + —Y9r3 + —6x4 = —28
—6x9 + 1023 + —214 = 38
54re + —8bxrz + 1ldxy = -—-332
8xr1 2600 + —32x3 + 2024 = -—220 | +2x (1)
—4xq 8ra + —9xr3 + —6xy = -—28
—6x9 + 1023 + —2x4 = 38
54r9 + —8bxrz + 1ldxy = —332 | +9x(2)
42x9 + —50x3 + 8ry = -—276
—4xq 8roa + —9x3 + —6xy = -—28
—6x9 + 10x3 + —214 = 38
5x3 + —dry = 10
42x9 + —50x3 + 8xry = =276 |+ 7x(2)
—4xq 8t + —9x3 + —6x4 = —-28 (1)
—6z9 + 1023 + —224 = 38 (2)
brg + —4xy = 10 (3)
20x3 + —6z4 = —10 (4) |+ (—4)x(3)
—4xq 8x9 —9z3 + —6xrg4 = -28 (1)
—6x9 103 + —2z4 = 38 (2)
bry + —4dxy = 10 (3)
104y = =50 (4)
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Determine variable values:
(4) = x4 = -5
(3) = bx3+20=10 = br3 = —10 = 3 = -2
(2) = (—G)xz + (—20) +10 =38 = (—6)352 =48 = x9 = —8
(1) = (—4)3:1 + (—64) + 18+ 30 = (—28) = (—4)561 =—-12=21=3

Solution: 1 = 3,290 = =8, 23 = —2,14 = —5
—Tr1 + —8rs + —8r3 + —x4 = 46
) —63r1 + —64rs + —T8x3 + —1dxy = 452
—35r1 + —96x9 + 34zy = b1
—Tx1 + —64x0 + 44x3 + H8xry = —127
—Tr1 + —8r9 + —8r3 + —x4 = 46 (1)
—63r1 + —64xy + —T8x3 + —1bzy = 452 (2) |+ (—-9)x (1)
—3bxr1 + —96z9 + 34zy = -—-51 (3)
—T7r1 + —64x9 + 44x3 + H8xy = —127 (4)
—7r1 + —8xr9 + —8xrz3 + —x4 = 46 (1)
8T9 + —6x3 + —6xy = 38 (2)
—=35r1 + —96x9 + 34xy = =51 (3) |+ (=H)x(1)
—T7r1 + —64x9 + 44x3 + OS8xy = —127 (4)
—7x1 + —8r9 + —8r3 + —x4 = 46 (1)
8x9 + —6xz3 + —6z4 = 38 (2)
—56x9 + 40x3 + 394 = -—-281 (3)
—Tr1 + —64xe + 4dx3 + BH8xy = —127 (4) |+ (—1)x (1)
—7x1 + —8r9 + —8r3 + —x4 = 46 (1)
819 + —6xz3 + —6zy = 38 (2)
—b6xy + 40r3 + 39r4 = -—281 (3) |+ 7x(2)
—56x2 + 5223 + DH9ry = -—173 (4)
—7x1 + —8r9 + —8r3 + —xz4 = 46 (1)
819 + —6xz3 + —6x4 = 38 (2)
—2x3 + —3z4 = -—15 (3)
=56z + 52x3 + H9r4 = —173 (4) |+ 7x(2)
—7r1 + —8x2 + —8r3 + —wz4 = 46 (1)
8rg + —6xrz3 + —6x4 = 38 (2
—2x3 + —3r4 = -—-15 (3)
10z3 + 1724 = 93 (4) |+5x(3)
—7r1 + —8x2 + —8r3 + —wz4 = 46 (1)
8rg + —6xz3 + —6x4 = 38 (2
—2x3 + —3r4 = —-15 (3)
20y = 18 (4)

Determine variable values:

www.dw-math.com Page 2 smp-3339-3/URGN



Solutions to smp-3339-3/URGN

(—=2)x3 + (=27) = (=15) = (—2)xzz3 =12 = 23 = —6
8ro + 36 4 (—H4) =38 = 8ry =56 = x2 =7
(

(1) = (=T)x1 + (=56) + 48+ (—9) =46 = (—T7)x;1 =63 = 21 = —9
Solution: x1 = =9, 29 =7, 23 = —6,14 =9
2 S50
Solve the linear equation system. Use the Gaussian Elimination algorithm.
—8a + 20 + 10c = 60
a) 56a + —17b + —=T2¢ = —410
10¢ = 40
—8a + 20 4+ 10c = 60 (1)
56a + —17b + —T2¢ = —410 (2) |+ 7x (1)
10c = 40 (3)
—8a + 20 4+ 10c = 60 (1)
-3b + —2¢ = 10 (2)

10c = 40 (3)
Determine variable values:
(3) =>x3=4
(2)$(—3)x2+( 8)—10$( )2 18 = 29 = —6
(1):>(—8)561—|—( 12)+40—6 :>( ) =32=21=—-4

Solution: a = —4,b0 = —6,c =4

—3a + 3b + —6¢c = =51
b) —24a + 310 + —blc = —462
—63b + 19¢ = 454
—3a + 3b + —6c = =51 (1)
—24a + 31b + —ble = —-462 (2) |+(—8)x(1)
—63b + 19¢ = 454 (3)
—-3a + 3b + —6c = =51 (1)
b + —3c = —-54 (2
—63b + 19¢ = 454 (3) |+9x(2)
—3a + 3b + —6c = —-51 (1)
 + —3c = —54 (2
—8 = =32 (3)
Determine variable values:
(3) = x3 =4

(2) = Txo + (—12) = (—=54) = Twe = —42 = 19 = —6
(1) = (=3)x1 + (—18) + (=24) = (-51) = (-3)r1=—-9 =21 =3

Solution: a = 3,b = —6,c =4
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3)
Solve the linear equation system. Use the Gaussian Elimination algorithm.
) 94 + =Tz = 8
A 24y + =35z = 76
494 + =7z = 8 (1)
24y + =35z = 76 (2) |+ (=6)x(1)
by + -7z = 8 (1)
Tz = 28 (2)
Determine variable values:
(2) => a0 =14

(1) =4r1+ (-28) =8 =421 =36 =21 =9
Solution: y =9,z =4

b 4949 + 4z = =16
) 8y 4+ —12: = 52
49 + 4z = —16 (1)
-8y + —122 = 52 (2) |+2x(1)
94 + 4z = —-16 (1)
—4z = 20 (2
Determine variable values:
(2) = x9=-5

(1) = 4x1 + (—20) = (-16) = 41 =4 =21 =1
Solution: y =1,z = —5

4)

Solve the linear equation system.

-7y + —6z = 58
a)
-7y + —12z = 88

Triangular form:

-7y + —6z = 58 (1)
—6z = 30 (2)

Determine variable values:

(2) = 29 = =5
(1) = (=T)z1 +30 =58 = (=T)ay =28 =z = —4

Solution: y = —4, 2z = =5
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b) -5y + 8 = 61
15y + —14z = -—163
Triangular form:
-5y + 8z = 61 (1)

10z = 20 (2)
Determine variable values:

(2) = 29 =2

(1) = (=5)z1 + 16 = 61 = (—5)z; = 45 = z1 = —9

Solution: y = —9,2 = 2

Good Luck!
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